BEMALEELE ) DM E-X

No BEWD LT pepous | LEND HEBED S EDEH THRLEDFHEDIEE MESESOTE e
- BHIR(E BiEfE RE | i
VRIS k= — R EE N B ARBREGKIBEICLATBESGFIV I —MEEEY |Is/1s0=1.01, Is/150=1.0, =
I |EARATE2E L HBRHESRES | BHR DR EBU R (=7 B H2 KB (2001 A7) Cry$p=031  |Cry=8,703 LLEsgs
. MHIETE S RET2- =g zn, — B EE AN B ARBREGRIBRICLATBESGFIV I —MEEEY |Is/1s0=1.11, Is/150=1.0, = -

2 |E7EL 12811 n BIEHE DT BB R 1= 5 B2 RD M | (19904 HR) Cy-S,=0.68 0.3<Cy+Sp<1.25 DEAE
TE — BN B ARBREGKIBEICLATBESGFIV I —MEEEY |Is/1s0=1.51. Is/150=1.0,
(Eﬁ) 0)ﬁﬁ¢%§%&ﬁ££]l:m&)ér¥2ﬁ§?) ¥ % 1 (2001 FhR) Cry=Sp=0.93 Cry=Sp=0.3

3 |([HHRZEEE AR BT 2-505-1 ZERE HERERE
AR — BB EE AN B ARBRERRIBRICLATBESGIVI)—MEEEY |Is/1s0=1.41. Is/150=1.0,
() D=L EAE |[ZTEHBIE2RZHE ] (2001 FRR) Cry~Sp=0.92 Cry*Sp=0.3




